BIT R — B RGP S A 48 4

REEAMT TO, Fhldr Tx

L K
@)
A2RE8 /] R
—~ B (108 &6 %)

HRARKAFEE  BERNER - R B HRABLE -
1. pmXoltcosx — o 2. tim -4 .

=0 2x _— T2 In(x? -3)
3. J.\/1+sinx cosx de = ° 4, _‘.i_(]_ogl.f_) = o

E— de| x+1 _—

d 1 — o dy, 2\ — o

S. Z((zﬁe’)z] —_— 6. };(* ('"")) -
dx — o - dx o

7 I9x’—64 — ) xlny ~ ——————
9. j’e'e,” de = ° 10. I(:E;Zxdxdyz °

=~ A A0 5) LARHHEBR  FRIXTHS -

1. (10%) Assume that a spider is spinning a circular web, and suppose that the
radius of the web is changing at the rate of 8 millimeters per hour.
(a) Find the rate at which the area of the web is increasing when the radius
is 50 millimeters.

(b) Tine the rate at which the circumference ([ /) is increasing when the
radius is 50 millimeters.

2. (10%) Given that ¢ —I+x+2]x +3‘x .. +‘ .. for-c0 <x < co, Find the

first four nonzero terms of the Taylor series about zero for the hyperbolic sine

. . . . 1 _
function which is defined as snnhx:—i(e" -e )

3. (10%) Determine the area of the region enclosed by y=x and y=x.

4. (10%) Find the relative extrema of f(x,y)=x"+)'-3x* -3y’ -9x+4.




